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On the surface of the Moon, two persons
cannot listen each other as-

(a) They wear special types of space suits
on the Moon

(b) Sound travels very slow on the Moon

(¢) 'There is no atmosphere on the Moon

(d) Their ears stop working at the Moon

A ‘black hole’ is a body in space which
does not allow any type of radiation to
come out. This property is due to its —

(a) High density

(b) Very low density
(¢) Very large size
(d) Very small size

Consider the following statements

1. The Earth receives the Sun’s energy at
the infrared end of the spectrum.

2. The Earth re-radiates the Sun’s heat as
ultraviolet energy.

Which of the statement(s) given above
is/are correct?

(a) Both 1and 2
(b) Neither 1 nor 2
(¢) 2only

(d) 1only

The sun, the moon, and all those objects
shining in the night sky are called........

(a) Planet

(b) Asteroids

(¢) Meteoroids

(d) Celestial bodies
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The various shapes of the bright part of
the moon as seen during a month are
called ?

(a) Full Moon

(b) New Moon

(¢) Bright Moon

(d) phases of the moon

Consider the following statements:

1. Since Venus is seen in the East in
morning and in the West in evening. It
is called ‘Morning star’ as well as
‘Evening star’.

2. The Earth looks blue when seen from the
space due to the presence of large amount
of water, hence it is called ‘Blue Planet’.

Which of the above statements is/
are correct ?

(a) Both 1and 2
(b) Neither 1 nor 2
(¢) 2 only

(d) 1only

Which one of the following is the time
required for the earth to return to a given
point in its orbit with reference to fixed
stars called ?

(a) Tropical year
(b) Sidereal year
(¢c) Solar year

(d) Lunar year
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Which of the following is the closest star
to the sun?

(a) Alpha Centauri
(b) Sirius

(¢) Proxima Centauri
(d) Barnard’s Star

What is the name of the galaxy that
contains our solar system ?

(a) Andromeda Galaxy

(b) Milky Way Galaxy

(¢) Triangulum Galaxy

(d) Large Magellanic Cloud

What is the phase of the moon when it is
completely illuminated by the sun ?

(a) New Moon
(b) First Quarter
(¢) Full Moon
(d) Last Quarter

Which of the following is the largest
planet in the solar system ?

(a) Jupiter
(b) Saturn
(c) Uranus
(d) Neptune

What is the name of the space telescope
that launched in 2021 7?

(a) James Webb Space Telescope
(b) Hubble Space Telescope

(¢) Chandra X-ray Observatory
(d) Spitzer Space Telescope
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What is the Big Bang theory ?

(a) A theory that explains the origin of the
universe

(b) A theory that explains the evolution of stars

(¢) A theory that explains the formation of
galaxies A theory that explains the
expansion of the universe

(d) All of the above
What is the Doppler effect ?

(a) A phenomenon in which the frequency
of a wave changes due to the relative
motion of the source and observer

(b) A phenomenon in which the wavelength
of a wave changes due to the relative
motion of the source and observer

(¢) A phenomenon in which the amplitude
of a wave changes due to the relative
motion of the source and observer

(d) All of the above

What is the cosmological constant ?

(a) A constant that determines the rate at
which the universe is expanding

(b) A constant that determines the density
of the universe

(c) A constant that determines
temperature of the universe

(d) All of the above

the

What is the difference between a comet
and an asteroid ?

(a) Comets are made of ice and dust, while
asteroids are made of rock and metal

(b) Comets have elliptical orbits, while
asteroids have circular orbits

(¢) Comets have tails, while asteroids do not

(d) All of the above
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What is the universe made of ?
(a) Ordinary matter

(b) Dark matter

(¢) Dark energy

(d) All of the above

Which one of the following is not an
Astronomical object ?

(a) Black hole

(b) Quasar

(c) Brittle star

(d) Pulsar

Which of the following stars is known
as Fossil star ?

(a) Red Giant

(b) White Dwarf

(¢) Dog Star

(d) Protostar

Which one of the following is not a
natural unit of time ?

(a) Standard time

(b) Day

(¢) Lunar month

(d) Tropical year

Consider the following two statements, one

labelled as the Assertion (and other as

Reason (R).Examine these two statements

carefully and select the correct answer by

using the codes given below:

Assertion (A): Venus is the brightest

object in the sky after sunset.

Reason (R): Venus is the second planet

from the Sun in our solar system.

Codes:

(a) A istrue, but R is false.

(b) A isfalse, but R is true.

(¢) Both A and R are true, but R is not the
correct explanation of A.

(d) Both A and R are true and R is the
correct explanation of A.

Q 22.

Q 23.
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The last stage in the life cycle of a star is
(@) Red Giant

(b) White Dwarf

(¢) Supernova

(d) Black Hole

Which of the following statement(s) is/

are true ?

1. A planet is a celestial body that orbits a
star and may or may not be a star itself

2. A planet has sufficient mass for self-
gravity and is roughly spherical in
shape

3. A planet is formed out of fragments of
rocks and metal leftovers is our solar
system

4. Pluto is the smaller planet of our solar
system

(a) 2and4

(b) 2,3 and 4

(c) 2only

(d) 1and 2

Consider the following two statements, one
labelled as the Assertion and other as
Reason (R).Examine these two statements
carefully and select the correct answer by
using the codes given below:

Assertion (A): The planet
appears blue in color.

Neptune

Reason (R): The presence of h,he gas in
the atmosphere of Neptune is responsible
for its color.

Codes

(a) A istrue, but R is false.

(b) A isfalse, but R is true.

(¢) Both A and R are true, but R is not the
correct explanation of A.

(d) Both A and R are true and R is the
correct explanation of A.
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Consider the following statements

1. Our solar system is located in the orion
arm of the Milky way galaxy, about two-
third of the way out from the center.

2. The solar system formed from an
interstellar cloud of dust and gas or
nebula about 4.6 billion years ago.

Which of the above statements is/

are correct ?

(a) Both 1and 2
(b) Neither 1 nor 2
(¢) 2only

(d) 1only

The planet Pluto has been abandoned
from the group of the conventional
planet and kept in the group of dwarf
planet by a summit held in

(a) Geneva

(b) Prague

(¢) London

(d) Paris

Which of the following pairs of planets is
without satellites ?

(a) Earth and Jupiter

(b) Mercury and Venus

(¢) Mercury and Mars

(d) Venus and Mars

Every Solar eclipse occurs on
(a) Amavasya only

(b) Poornima only

(c) Both A and B

(d) Neither A nor B

Which of the following planets does not
have a satellite ?

(a) Neptune

(b) Earth

(c) Mercury

(d) Mars

Q 30.
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What causes the change of Seasons ?

(@) Earth’s revolution and inclination of its axis
(b) Earth’s rotation and inclination of its axis
(c) Earth’s revolution

(d) Earth’s rotation and revolution

The Solar Eclipse achieves totality only

in limited geographical regions because

(a) 'The trajectories of the Earth around the
Sun and Moon around the Earth are not
perfect circles

(h) Sun rays can reach most of the
peripheral regions of the shadow of the
Moon due to atmosphere refraction

(¢) The Earth is not a smooth flat surface,
but has elevations and depressions

(d) The size of the shadow of the Moon on
the Earth is small as compared to cross-
section of Earth

Which of the following pairs is not

properly matched ?

(a) 'The brightest planet of the Solar System
- Venus

(b) The slowest moving planet of Solar
System — Mars

(¢) The smallest planet of the Solar System
- Mercury

(d) The largest planet of the Solar System
— Jupiter

Assertion (A): To orbit around the Sun
the planet Mars takes lesser time than
the time taken by the Earth. Reason (R):
The diameter of the planet Mars is less
than that of Earth.

(@) (A) istrue, but (R) is false

(b) (A) isfalse, but (R) is true

(c) Both (and (R) are true, but (R) is not
the correct explanation of (A)

(d) Both (A) and (R) are true and (R) is
the correct explanation of (A)
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Q 34.

Q 35.
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The Earth’s axis of rotation (polar axis)
is always inclined at an angle of

(a) 24.5° from the elliptic axis

(b) 23.5° from the elliptic axis

(c) 23.1° from the elliptic axis

(d)
‘Big Bang theory’ is related to

(a) Origin of the Himalayas

(b) Eruption of Volcanoes

(¢) Origin of the Universe

(d) Continental Drifts

Which one of the following may have

23.0° from the elliptic axis

alien life because of a very conductive
environment to life ?

(a)
(b)
(c)
(d)
One Astronomical unitis average distance
(a) Between Jupiter and Sun

(b) Between Neptune and Sun

(¢) Between Earth and Moon

(d) Between Earth and Sun

How many constellations are in our Space ?
(a) 89

(b) 90

(c) 88

(d) 87

Assertion (A): Artificial satellites are
always launched from the Earth in the

Europa-The Jupiter’'s Moon
Moon-The Earth’s Moon
Mars

Jupiter

Eastward direction.

Reason (R): The Earth rotates from West
to East and so the satellite attains the
escape velocity.

Code
(a)
(b)
(c)

(A) is true, but (R) is false

(A) is false, but (R) is true

Both (and (R) are true, but (R) is not
the correct explanation of (A)

Both (A) and (R) are true and (R) is
the correct explanation of (A)

(d)

Q 40.
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Seasonal changes is caused by which one of
special characteristic of Earth’s motion ?

Revolution around Sun
Axial tilt by 23Y% degree
Both (and (B)

Rotation on its axis

(@)
()
(©
(d)

Solar energy is due to

(@)
()
(©
(d)

Nuclear Fission
Oxidation
Nuclear Fusion
Ionization

Consider the following two statements, one
labeled as the Assertion (A) and the other
as Reason (R). Examine these two
statements carefully and select the correct

answer using the codes given below:

Assertion (A): The same face of the Moon
is always presented to the Earth.

Reason (R): The Moon rotates about its
own axis in days which is about the same
time that it takes to orbit the earth.

Codes:

A is true, but R is false.

A is false, but R is true.

Both A and R are true, but R is not the
correct explanation of A.

Both A and R are true and R is the
correct explanation of A.

(@)
(®)
(©

(@

A ‘black hole’ is a body in space which
does not allow any type of radiation to
come out. This property is due to its

High density
Very low density
Very large size
Very small size

(@)
(b)
(©)
(d)
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Q 44. Who first demonstrated the fact that

Q 45.

Q 46.

Q47.

planets revolve not in circles around the

Sun butin elliptical orbits ?

(a) Galileo

(b) Martin Luther

(¢) Johannes Kepler

(d) Copernicus

Scientists cite which incidents or

phenomena as evidence of the continuous

expansion of the universe ?

(a) Detection of subtle waves in space.

(h)  Observations of redshift phenomena in space.

(¢) Monitoring the motion of minor planets
in space.

(d)  Occurrence of supernova explosions in space.

Regarding the solar family, which of the

following statements is/are correct ?

1. Venus and Uranus rotate opposite to the
Earth’s direction of rotation.

2. Venus is the closest planet to Earth.

Use the code below to select the correct answer:

(a) Only 1

(b) Only 2

(¢) Both 1and 2

(d) Neither 1nor 2

What is the difference between minor

planets and comets ?

1. Minor planets are mostly celestial bodies
(planetoids ) made of rocks and metals,
while comets are mostly composed of icy
gases and metals bound together.

2. Minor planets orbit mostly between
Jupiter and Mars, while comets orbit
mostly between Venus and Mercury.

3. Comets exhibit luminous tails due to heat,
while minor planets do not show this.
Select the correct statement (s) using the code:

(a) Only 1and 2

(b) Only 1and 3

(¢) Only 2and3

(d 1,2,and 3

Q 48.

Q 49.

Q 50.

Q 51.
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In the context of our solar system, which

of the following is incorrect ?

(a) Mars is a red planet with abundant
nitrogen and oxygen.

(b) Kuiper Belt lies between Jupiter and Mars.

(c) Jupiter is the largest planet where breathing
is impossible, and its atmosphere is rich in
hydrogen and compounds like methane.

(d) Mercury, Venus, Mars, and Jupiter are
inner planets, and the rest are outer planets.

Consider the following:

1. Corona

2. Chromosphere
3. Photosphere

4. Mesosphere

5. Core

Which of the above is/are components of

the solar structure ?

(@) 1,2,3and 4

(b) 1,24 and5

(c) 1,2,3and5

(d) 2,3,and 4

What is the Kuiper Belt ?

(a) A belt of thermal waves in the northern
hemisphere between 15 degrees and 20
degrees latitude.

(b) A large region of ice and rocks near Pluto,
also known as the region of dwarf planets.

(¢) Another name for the dol-drum.

(d) Another name for the equatorial region.

Consider the following statements about

planets:
1. Jovian planets are composed of rocks
and metals.

2. Terrestrial planets have a dense
atmosphere of helium and hydrogen.
Which of the above statements is/are correct ?

(a) Only 1
(b) Both 1and 2
(¢) Only 2

(d) Neither 1 nor 2




www.khanglobalstudies.com

Q 52.

Q 53.

Q 54.

Consider the following statements
regarding the presence and distribution

of matter in the universe:

1. Visible matter constitutes the majority
of the universe.

2. Energy is responsible for the expansion
of the universe.

Which of the above statements is/are correct ?

(@) Only 1

(b) Only 2

(¢) Both 1and 2
(d) Neither 1 nor 2

In the context of our solar system, which
factors assisted terrestrial planets in
losing their original atmosphere ?

Q 55.

Q 56.

1.
2.
3.

Proximity to the Sun
Small size
Planetary magnetic fields

Use the code below to select the correct
answer:

(a) Only 1and 2
() Only 1and 3
(¢) Only 2 and3
(d 1,2,and 3

Among the following planets in our solar
system, between which are the asteroid
belts located ?

(a) Earth and Mars

(b) Mars and Jupiter

(¢c) Jupiter and Saturn
(d) Uranus and Neptune

Q 57.
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Which of the following best describes a
meteoroid ?

(a) A portion of a substance that is lost only
in the atmosphere and does not fall to
Earth.

(b) A luminous gaseous tail comet.

(¢) A portion of a substance that falls to
Earth completely without being lost.

(d) A small rocky body orbiting the Sun.

Evaluate the following statements

regarding solar spots:

1. They appear black against the bright
part of the Sun.

2. They are hotter than their surroundings.
They are formed in the Sun’s magnetic
field.

Which of the above statements is/are
correct ?

(a) only 1and 2
(b) only 2 and 3
(¢) only 1and 3
(d) 1,2and3

Which of the following planets could
potentially be suitable for sustaining life ?

(a) Mars

(b) Mercury
(c) Venus
(d) Jupiter
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YAl T FUTT 3787 (ST 378T) THIN Teh hI0T 0T
FETEATE

(a) USTHR &I 24.5°
(h) IUSHR & F 23.5°
(c) 3USHR AT H 23.1°
(d) 3SR e F 23.0°

Tearrain fagia’ A Eafuas
(a) TEHTeE & 3t

(b) AT fereRie
(c) SEHIS H I
(d) WETEIIM SR

(d)

Q 36.

Q 37.

Q 38.

Q 39.

Q 40.

Q 41.

UPPSC BATCH

GEOGRAPHY BY AJIT SIR

ST o feTT STIfires 3T eReT ATaTavuT o hIRUT
FrrforRea & & forad fardefr e et werar 2 ?
(a) TRII-TETf T =g

(b) <GH-Yed! S TgH

(c) A

(d) e

TR I 5T A g €
(@) Tewfd IR g & ¥

(b) AT IR gH & =

(c) g 3R wgH o &=

(@) T SR g %

TAR 3faier & foraa a8 ?
(a) 89

() 90

) 88

(d) 87

HAT (A): HIFH IUIE THIN Yool & ud feom &

witeer foRT ST & 1 IOt (R): gt ufderm & gel

T S 2 3 TARAT SUIE TeTe A U

FATE

&g

@ (A)TFR, W (R) T e

b)) (A) AR, AR (R) =€

(©) (A) @R (R) T AT, Wt (R) (A) &1
TE T e &

@ (A) 3R (R) 2Rl ¥ & 3R (R) (A) &
e T

T aRad= geat sl e et fore e fergtemar
FHFHNUTEATE ?

(@) 3% AR AR wif

(b) FEFERE 2315 et

(c) T (3R (B)

(d) ST A R A

TR FHST S HRUTE
(a) IR forgie
(b) ST
(c) TRHE] Herg
(d) IR
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Q 42. Frafafaa & weMl W AR &N, TF & Q 46. ARURAR F G & Frefeiad s § 9 sia-

Q 43.

Q44.

Q 45.

12

ARTRIT (A) 3T TEL &l HRUT (R) & &I T
Sreret foRaT T 1 S ST el o SaTgeeh
THreruT Y 3R 9 fSU 7T e 1 SUahT s
Fﬁ'?ﬁ?ﬂ'ﬁ‘

HIT (A): TIEHT T Ueh B <0 SHIM YT h
HEA VA BT 2 |

THIOT (R ): =EAT S0 g w1 g et Hgwar e
ST gAt i URGRAT S | TR aTed €9 6
T SR 2 |

CaC

(@ ATIE, ARFAIRTAAL|

() ATEAR, AT R T2

(¢ A 3R R SFi ¥F € Wfhd R, A o1 T
TEH TR ® |

(@) ARRIATAR AR, A &l G& @R |

"SR EIeT JAReT U i & 1 foRdt off Wi

% farfertor it siTex 7t frreher ST 1 e wufa

THFR FHRUTE

(@) ¥ uTE

(h) A HH TAA

(c) T IS SBR

(d) & Bl HER

I aeT foh TE I & URI 3R gt | & dfeeh
Sefgeil o gH €, Tor Uge fohem uehie femam o ?
(@) Teife=n

(b) WA TR

(c) SEHE HIeR

(d) HIRAHT

Sferes, FrefoReaa ® & fea/fe afteres)
qREreATstl st sgHie o FRav foearoT & wreg
FETHSZATAE?

(a) Siafel B Geu qi ol Sufeifer st aar =IeT |
(b) et o ISR e w1 sraeleH |

(c) SiaRer o &gl ol T |

(d) 3TaRer o GuRA fareiei s g |

Q 47.

Q 48.

UPPSC BATCH

/AT E/E?
1. YR 3R TG gt i ol e % faada
EUREZCES
2. 5k Y Fepeaq TE |
e e 1T she T URINT o W ST g -
(@) a1
(b) HAA 2

) 1322
@ A1, AR

SIS AT YTehd oh ST &Il ST EIaT e 2

1. &gUE &Y 92 Wehn (wHeae) §, Wi
g fewetifere i & fiftfa g & fe =g
3 o1 el SaE o g WA € |

2. &JSUE SMfUiva: gewfd 3R He & Ul
TSl o i U1 ST §, STeifeh e[k SAferehivTa:
Ieh SR T o & Y ST € |

3. YHehq TR Sftaa Jo <9Il 8, STafeh &5ue
ITE TEl <M |

U H A |/ A RATHER/E?

(a) 132

(h) a1 3R 3

(c) a3

@ 1,233

TAR ARHST &% Had 1 gad A T e ei 8 ?

(a) T Teh el TE ©, T8l 18iei 3 et
TERAGTH |

(h) &Y TEEf 3R Tl TEi o e TS € |

(c) TJewfd Gad faene e § <ol Yoo Hurd = 7
3R THH THSA TS MR EESSH %
Rifires, SIG- W F R 2 |

(d) T, Toh, T AR geef s T 3 A0
T TEE |
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Q 49.

Q 50.

Q51.

Q52.

frefafaa w faem #ifsa
HIRAT

AR

PRI

TR

. WR

Suer B A hi- G ST 3T E ?

@ 1,2,334
®) 1,243R5
© 1,2,33R5
@ 2,3,43R

FI ST -

(a) OHT AR &1 1 U o2 S foF SO Metrg, |
15 feilt @ 20 et srerier & = faega 21

(b) IR T el o Fiehe | SR gt 1 5eT &
S wiered it Fed €1

(c) SIcTgH ol Teh 1 M |

(d) 3T &I hl Teh 37 AH

el o W o frreferfiad et e femme -

1. Sl v TgHi o argelt | ffa g €1

2. T R H ST qen sEee # e
AIHEA B2 |

ST AT T A RA-HT/A AL B/ ?

(@) a1

b) 1328

(c) HaA2

@ TR

sgwTe W uarel St Sufverfa e famwer & Hed |

Trafafaa wuat w faam wHitsa-

1. goEE qerd serie & e e w5 oy
FATR

2. WS o fodR o fordl ol SeRerE B

ITge o W A B/ A T /82

(@) a1

(h) HEA2

(©) 13R238F2
@ T2

w e wNeR

Q 53.

Q 54.

Q 55.

Q 56.

Q 57.

UPPSC BATCH

GEOGRAPHY BY AJIT SIR

TR ARAEA & Hed #, Frafafaa & & foer

HIUT AT Uel ' 3TUT Wifeaeh argHeset

WA | FeTIar ot ?

1. 9 e

2. oY 3MHR

3. TRl g el

e T2 1T e ol T ohiteh WEl ST G-

(a) a1 32

(h) ohael 1313

(c) hael2 3R 3

@ 1,23R3

THR R HEe | oJ5uE Ut fafeiey et 8 9

Ter-form & oty erafierd & ?

(a) G & HITA

(b) HITA qA JgHA(CA

(c) T q

(d) STBO1TA TR

frafafaa & @ & ‘Sceilis’ & Faiee

U AT ?

(@) Torgi ered ot ek W, S e | & e 8
ST € 3R geet el fiRar €|

(b) TEHER T d AT Hohg |

(c) Terdi ueTel o1 ek 9, ST O oRE © e g f
gedt R AR ST 8 |

(d) T ol UREHAT A dT Teh Bl TgH e |

R Feteh & Gad | Frafafiad wmeet w e

HirTI-

1. g oh TTeheR R % feradid et o 3 € |

2. 9 31O UREw § siftrk TH R

3. 3G Y & T ST o RO S B ¢ |

ST heHT H A BA-AFENE ?

() Hae 132

(h) e 2 3R 3

(c) hael 13 3

@ 1,23WR3

Frefafad et § i straw & sifaa & for

SUGFIEI HhATE ?

(a) WA

) I

(c) b

(d) Tewd
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